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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

2800

2600 -

2400 -

2200 -

2000 -

1800

1600 - Warning: col ["ECC’, 'FVIEC'] is missing

0 10 20 30 40 50



Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

7.0

6.9 -

6.8 -

6.7

6.6 -

6.5 -

Warning: col ['EVORAH' ] ils missing

—— PHO

10

20

30

40

50




Trend plot forP3-6_0
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09:05 278 150.0 [Z=| {Ri%@09:05 Bz (RAEESE)
09:55 278 150.0 & =| 1Ri%@09:55 Bz (KAHERE)
10:55 278 150.0 & =| 1Ri%@10:55 Bzh (RAHERESE)
11:45 278 150.0 | =| 1Rige11:45 Bz (RAEREE)
12:20 278 150.0 [Z=| 1BRige12:20 Bzh (KREERESE)
13:00 278 150.0 FH| {Ri%@13:00 B (RAEREE)
13:55 278 150.0 FA| {Ri%@13:55 Bz (GRAEEE)
14:35 278 150.0 FH| 1Bige14:35 Bzl (GRAEREE)
15:20 278 150.0 FA| 1BRi%@15:20 B3h (RAERE)
16:10 278 150.0 FA| {Ri%@16:10 Bz (GRAEEE)
17:15 278 150.0 PA| {Rige17:15 Bz CGRAEESE)
=3t] 4170.0 (15)%) 2250. 0 3203 KEC: 2080.0, PH: 5.6

large discrepency for begining water status (402:153.0), set to 402 ml.
F[EIKRECE (2080. 0 vs 3757.0)53 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=55 (2025-05-23)
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Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

0.2~

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-6

BfiE) | GEBIETK (D) | EHE (EH/R) | XK R

04:35 278 150.0 (£ =| {Ri&e04:35 Bz (REAEESE)
05:00 278 150.0 5| 1Ri&e05:00 Bz (REAEES)
05:50 278 150. 0 F  1BRi&@05:50 Bzl (RAERE)
06:15 278 150.0 & =| 1Ri%@06:15 Bzh (KAHERESE)
07:40 278 150.0 & =| 1Ri%e07:40 Bz (kAEREEE)
09:30 278 150.0 FA| 1BRi%@09:30 B3 (KAFEREE)
11:20 278 150.0 FH| {Ri%e11:20 Bz (RAEEE)
12:50 278 150.0 FA| 1BRi%@12:50 B3h (kAEREE)
14:25 278 150.0 FH| 1Rige14:25 Bzl (GRAEREE)
21t+]2502.0 (97%) 1350. 0 3203 KEC: 2080.0, PH: 5.6

large discrepency for begining water status (562:150.0), set to 562 ml.
FEEIKRECE (2040. 0 vs 4110.0)53 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=54 (2025-05-22)
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Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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m=440, FV0=0 m=465, FV0=0 m=535, FV0=0
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m=745, FV0=0
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P3-6

BfiE) | BB (F) | EdiE (ER/HK) [ XK R

06:45 278 150.0 FR| {Ri%@06:45 Bz (RAIERE)
07:10 278 150.0 & =| 1Ri%e07:10 Bzh (kAEREE)
07:35 278 150.0 & =| 1Ri%@07:35 Bzh (RAHEESE)
08:55 278 150.0 & =| 1Ri%e08:55 B (FkAIEREE)
10:00 278 150.0 & =| 1Ri%@10:00 Bz (kBEREEE)
10:50 278 150.0 (& =| 1BiB@10:50 Bzh (REEREE)
11:35 278 150.0 (& =| 1BRige11:35 Bzh (REERESE)
12:15 278 150.0 [ =| Ri%e12:15 Bz (kBEREE)
12:55 278 150.0 (& =| 1Bige12:55 Bz (REEREE)
13:30 278 150.0 F BRi%e13:30 Bz (GRAERE)
14:05 278 150.0 =] BRiBe14:05 Bz (REAEESE)
14:45 278 150.0 | 1Rike14:45 Bz (REERS)
15:25 278 150.0 = Rige15:25 Bah (RAEESE)
16:15 278 150.0 =] RiBe16:15 Bz (REAEESE)
2it]3892.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 5.8

large discrepency for begining water status (338:180.0), set to 338 ml.
FEIRECE (2163. 0 vs 4570.0)53 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=53 (2025-05-21)
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